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Problem

INV allows user to change a stock number when quantity on hand is not equal
to zero.

Solution
The problem is corrected by following the steps listed below.

1. Backup the diskette(s) and make the changes on the Backup copy of the
program.

2. In BASIC load the program by typing LOAD"IMS/BAS".

3. Make the following corrections:

CHANGES (Retype the line or refer to the Edit section of the owners manual)

DELETE LINES 238, 24, 242

01d Line: 234 PUT1,I(I,@):GOSUB184: IFKF<>@THENKF=@:N1=I:N2=I(I,f):
I(I,8)=-I(I,0):VN=I(I,1):ND=ND+1:G0SUB292:NI=NI-1

New Line: 234 GOSUB9@:PUT1,I(I,d):GOSUB184: [FKF<>@THENKF=@:N1=1:N2=I(I,0):
I(I,8)=-I(I,0):VN=I(I,1):ND=ND+1:GOSUB292:NI=NI-1:RETURN

0ld Line: 236 IFCS<>CVS(F1$(9))THENGET2,3:LSETG1S (6)=MKD$ (CVD(G1$(6))+
(CVS(FI$(9))-CS)*QT):PUT2,3

New Line: 236 NI=NI-1:GOSUB318:RETURN
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ADD THESE LINES:

199 C1=CVS(F1$(11)):C2=CVS(F1$(12))
9@ GET2,3:LSETG1S (f)=MKDS$ (CVD(G1$ (#))-PR!*Cl) :LSETG1$(1)=
MKDS$ (CVD(G1$ (1) )-PR1*C2)
91§ LSETGIS (2)=MKD$ (CVD(G1$ (2))~CS*C1) : LSETG1S ( 3 )=MKD$ (CVD(G1$ (3) )-CS*C2)

920 LSETGIS (6)=MKD$ (CVD(G1$ (6))-QT*CS) : LSETG1S$ ( 7)=MKDS$ (CVD(G1$ (7) )-QT*PR!) :
PUT2, 3:RETURN

Type SAVE"IMS/BAS" to save the changes in the program.
At TRSDOS READY, make a backup copy of the corrected diskette.




